07107_A REkiE#

, Toesk , HUMIRG , A B

M
BERFARMN , BESREL N 10.9
HhAMRBR

K

ZEiER,

TERZFELAE | =,

BR:

HTETERKNABRATREMERTEE, KENGE,

B IR TR AR RIR IR BR IR

[ 7 >
sl o —l
13 {l
[ N
= L1 o
07107-10410 A M4x0,5 10 2,5 2 3,5
07107-10406 A M4x0,5 6 2,5 2 3,5
07107-10512 A M5x0,5 12 3 2,5 4,5
07107-10508 A M5x0,5 8 3 2,5 4,5
07107-10610 A M6x0,5 10,8 4 3 9
07107-10612 A M6x0,5 12,8 4 3 9
07107-10616 A M6x0,5 16,8 4 3 9
07107-10620 A M6x0,5 20,8 4 3 9
07107-10625 A M6x0,5 25,8 4 3 9
07107-10810 A M8x1 11,2 55 4 10
07107-10820 A M8x1 21,2 5,5 4 15
07107-11012 A M10x1 13,7 7 5 20
07107-11025 A M10x1 26,7 7 5 20
07107-11216 A M12x1,5 18 8,5 6 30
07107-11230 A M12x1,5 32 8,5 6 30
07107-11620 A M16x1,5 23,3 12 8 60
07107-11635 A M16x1,5 38,3 12 8 60
07107-12030 A M20x1,5 34,2 15 10 90

© norelem www.norelem.com



07107_A RERERZ |, Tk |, HAIRE , A #

max. kN
(BSHAR)

X0 sw HEEED

07107-12040 M20x1,5

© norelem www.norelem.com



